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Bogenlänge – Bogenmaß – Gradmaß / Lösungen M10 
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Aufgabe 2 

a) 
4

3
𝜋

2𝜋
· 360° =

2

3
· 360° = 240°  b) 

2

9
𝜋

2𝜋
· 360° =

1

9
· 360° = 40° c) 

1

5
𝜋

2𝜋
· 360° =

1

10
· 360° = 36° 

d) 
1

1

4
𝜋

2𝜋
· 360° =

5

8
· 360° = 225° e) 

10𝜋

9

2𝜋
· 360° =

5

9
· 360° = 200° f) 

1
5

6
𝜋

2𝜋
· 360° =

11

12
· 360° = 330°  

g) 
0,4𝜋

2𝜋
· 360° = 0,2 · 360° = 72° h) 

1,75𝜋

2𝜋
· 360° = 0,875 · 360° = 315° 

 

Aufgabe 3 

a) 𝑏 =
𝛼

360°
· 2𝜋𝑟 =

90°

360°
· 2𝜋 · 5 𝑐𝑚 ≈ 7,9 𝑐𝑚  b) 𝑏 =

120°

360°
· 2𝜋 · 5 𝑐𝑚 ≈ 10,5 𝑐𝑚  

c) 𝑏 =
30°

360°
· 2𝜋 · 10 𝑐𝑚 ≈ 5,2 𝑐𝑚 d) 𝑏 =

150°

360°
· 2𝜋 · 0,8 𝑐𝑚 ≈ 2,1 𝑐𝑚 

Aufgabe 4 

a) 𝛼𝐺 =
𝑏

2𝜋𝑟
· 360° =

4 𝑐𝑚

2𝜋·5 𝑐𝑚
· 360° ≈ 45,8°       𝛼𝐵 =

𝑏

2𝜋𝑟
· 2𝜋 =

𝑏

𝑟
= 0,8   

b) 𝛼𝐺 =
𝑏

2𝜋𝑟
· 360° =

1 𝑐𝑚

2𝜋·5 𝑐𝑚
· 360° ≈ 11,5°       𝛼𝐵 =

𝑏

2𝜋𝑟
· 2𝜋 =

𝑏

𝑟
= 0,2   

c) 𝛼𝐺 =
𝑏

2𝜋𝑟
· 360° =

9 𝑐𝑚

2𝜋·10 𝑐𝑚
· 360° ≈ 51,6°     𝛼𝐵 =

𝑏

2𝜋𝑟
· 2𝜋 =

𝑏

𝑟
= 0,9   

d) 𝛼𝐺 =
𝑏

2𝜋𝑟
· 360° =

0,1 𝑐𝑚

2𝜋·0,8 𝑐𝑚
· 360° ≈ 7,2°       𝛼𝐵 =

𝑏

2𝜋𝑟
· 2𝜋 =

𝑏

𝑟
= 0,125 ≈ 0,1  

 

Aufgabe 5 
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